
4-25Catalogue № 17 For more information please contact Stránský a Petržík, Pneumatické válce spol. s r.o. by phone +420 499 628 600, by email info@sappv.cz, or visit www.sappv.cz

4

MOUNTING ACCESSORIES 
FOR CYLINDERS

 • PDSW

FOOT MOUNTING
FOR CYLINDER 
• PDSW
Supply contains:
1 pc foot mounting

Note: supply doesn‘t contain nut 
- it is included in supply of the 
cylinder (1 pc)

Piston ∅ A B C D E F G H I J K L Weight Order codes

32 66 49 30 4 7 14 7 28 52 28 14 52 0.12 2113 2100 0032 0000
40 80 58 38 4 10 20 9 33 60 30 18 60 0.16 2113 2100 0040 0000
50 90 70 45 5 10 20 9 40 70 40 20 70 0.25 2113 2100 0050 0000
63 96 80 45 5 10 20 9 45 76 50 20 76 0.32 2113 2100 0063 0000

A
I

L

E

O C

J
K

H

O G

B

F

D

Piston ∅ A B C D E F G H I J M N L SW K P D10 D7 Weight Order codes

32 50.1 38.1 10 35 15 7 40 12 20 4 20 24 17.5 13 6.5 4 10 M8x1 0.16 2113 3000 0032 0000
40 60.1 46.1 12 40 20 9 50 13 27 4 28 30 22 17 9 5 12 M10x1 0.25 2113 3000 0040 0000
50 74.1 57.1 14 45 23 9 54 14 30 5 36 34 27.5 19 12 6 14 M12x1.5 0.37 2113 3000 0050 0000
63 88.1 70.1 16 50 23 9 65 16 34 5 42 35 32 19 16 6 16 M14x1.5 0.51 2113 3000 0063 0000

P

L

D
7

O
D
10

K

SW

B

A

O
E

G

D

H

O
C

J

M

NI
F

CLEVIS FOOT MOUNTING
FOR CYLINDER 
• PDSW

Supply contains:
1 pc clevis
2 pcs screws
2 pcs washers

Piston ∅ A B D f7 L SW Weight Order codes

32 37 50 10 47 5 0.010 2113 4200 0032 0000
40 45 60 12 57 6 0.013 2113 4200 0040 0000
50 56 74 14 62 6 0.020 2113 4200 0050 0000
63 69 89 16 63 8 0.028 2113 4200 0063 0000

AB

L

OD

SWPLUG BOLT FOR CYLINDER 
• PDSW

Supply contains:
1 pc bolt
1 pc washer


